C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 45x43= 2) 39x45 =

1

1 1 2

1 1 3

' 4.

...................... L ] 5.

6.
3) 45%x23 = 4) 32%x24 =
5 38x18= 6) 39x25=
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ﬂh Multiplying Using Arrays Name: Answer Key

Usethearray provided to solve each problem. Answers
1) 45%x43 = 2) 39x45 =
40 3 40 5 L 1’935
: : . 1,755
30 (30 x 40) (30 % p) 2 1.035
40 (40 x 40) (4h ¥ 3) 1,200 1150 ' ’
1,600 12 :
i 4, /68
: 9 :
: (9 x 40) (9x5)
______________________ L 360 45 5, 684
° (5% 40) (8x3)
200 15
6. 975
3) 45%x23 = 4) 32%x24 =
20 3 20 4

40
(40 x 20) (40 X 3) 30 30 x 20 0 x 4
g0 120 0 Gflzxo)
> 6x20 @Exp 2 [ 1R E TR
100 1 40 )
5) 38x18= 6) 39x25=
10 8 20 5
30 (30 x 10§30 x 8 30| (30x20) (d0xb)
300 . 240 600 1150
8 l@x106x9 Ol @x20 (bxy
80 ' 64 180 1 45
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